
Solve the system of equations by using any method you want. 

1) {
4𝑥 + 3𝑦 = 1
𝑥 = 1 − 𝑦

    2) {
2𝑥 − 𝑦 = 6
−𝑥 + 𝑦 = −1

    3) {
𝑦 = 2𝑥 − 4

𝑦 =
1

4
𝑥 + 3

 

 

 

4)  {
6𝑥 − 𝑦 = 3

4𝑥 − 2𝑦 = −2
    5) {

𝑦 = −𝑥 + 2

𝑦 =
1

3
𝑥 − 2

     6) {
2𝑥 + 3𝑦 = 7
𝑥 = 1 − 4𝑦

 

 

 

7) {
𝑦 = 𝑥 + 2

𝑦 = −
2

3
𝑥 − 3

    8) {
2𝑥 + 3𝑦 = 6
𝑥 − 3𝑦 = −15

    9) {
7𝑥 − 5𝑦 = 4
𝑦 = 3𝑥 − 4

 

 

 

10) 

 

 

 

 

11)  The length of a rectangle is 8 inches more than the width. The perimeter of a rectangle 

is 56 inches. Write and solve a system of linear equations to find the length and width of a 

rectangle. 

 

 

12)  

 

 

 

 


